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https://www.leaseplan.com/corporate/~/media/Files/L/Leaseplan/documents/green-bond-framework.pdf


 

  

 

• 

.   

• 

 

  

 

                                                           

. 



 

 

                                                           



 

 

 

                                                           



 

 

 

  

                                                           

  



 

 

 

 

 

 

 

 

 

 

 

 

 

 

                                                           

https://www.leaseplan.com/corporate/~/media/Files/L/Leaseplan/documents/green-bond-framework.pdf
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https://www.climatebonds.net/files/files/Low%20Carbon%20Transport%20Background%20Paper%20Feb%202017.pdf
https://www.leaseplan.com/corporate/~/media/Files/L/Leaseplan/documents/green-bond-framework.pdf
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𝐸𝐹𝐵𝐸𝑉

𝑥 =
(𝐸𝐹𝑔𝑟𝑖𝑑

𝑥 × 𝐸𝐹𝐵𝐸𝑉
𝑈𝐾 )

𝐸𝐹𝑔𝑟𝑖𝑑
𝑈𝐾  

- 𝐸𝐹𝐵𝐸𝑉
𝑥

- 𝐸𝐹𝑔𝑟𝑖𝑑
𝑥

- 𝐸𝐹𝐵𝐸𝑉
𝑈𝐾

- 𝐸𝐹𝑔𝑟𝑖𝑑
𝑈𝐾

 

 



 

 

 

 

 

 

 

 

 

𝐷𝑡𝑜𝑡 
𝑥 = 𝐷𝑎𝑣𝑔 

𝑥 ×  𝐵𝐸𝑉𝑛 
𝑥 

∑ 𝐷𝑖

21

𝑖=1

= 𝐷𝑡𝑜𝑡
1 + 𝐷𝑡𝑜𝑡

2 + ⋯ +  𝐷𝑡𝑜𝑡
21  

                                                           



 

 

- 𝐷𝑡𝑜𝑡 
𝑥

- 𝐷𝑎𝑣𝑔 
𝑥

- 𝐵𝐸𝑉𝑛 
𝑥

 

𝐸𝑡𝑜𝑡 (𝐼𝐶𝐸) 
𝑥 = 𝐷𝑡𝑜𝑡 

𝑥 ×  𝐸𝐹𝐼𝐶𝐸 
𝑥

∑ 𝐸(𝐼𝐶𝐸)𝑖

21

𝑖=1

= 𝐸𝑡𝑜𝑡 (𝐼𝐶𝐸)
1 + 𝐸𝑡𝑜𝑡 (𝐼𝐶𝐸)

2 + ⋯ + 𝐸𝑡𝑜𝑡 (𝐼𝐶𝐸)
21

- 𝐸𝑡𝑜𝑡 (𝐼𝐶𝐸) 
𝑥

- 𝐷𝑡𝑜𝑡 
𝑥

- 𝐸𝐹𝐼𝐶𝐸 
𝑥

- 𝐸(𝐼𝐶𝐸)

 



 

 

 𝐸𝑡𝑜𝑡 (𝐵𝐸𝑉) 
𝑥 = (𝐷𝑎𝑣𝑔 

𝑥 ×   𝐸𝐹𝐵𝐸𝑉 𝑐𝑎𝑟 
𝑥 )  + (𝐷𝑎𝑣𝑔 

𝑥 ×   𝐸𝐹𝐵𝐸𝑉 𝐿𝐶𝑉 
𝑥 )  

 
∑ 𝐸(𝐵𝐸𝑉)𝑖

21

𝑖=1

= 𝐸𝑡𝑜𝑡 (𝐵𝐸𝑉)
1 + 𝐸𝑡𝑜𝑡 (𝐵𝐸𝑉)

2 + ⋯ + 𝐸𝑡𝑜𝑡 (𝐵𝐸𝑉)
21  

- 𝐸𝑡𝑜𝑡 (𝐵𝐸𝑉) 
𝑥

- 𝐷𝑎𝑣𝑔 
𝑥

- 𝐸𝐹𝐵𝐸𝑉 𝑐𝑎𝑟 
𝑥

- 𝐸𝐹𝐵𝐸𝑉 𝐿𝐶𝑉 
𝑥

- 𝐸(𝐵𝐸𝑉)

 

𝐸𝑡𝑜𝑡 (𝑎𝑣𝑜𝑖𝑑𝑒𝑑) =  𝐸(𝐼𝐶𝐸)  −  𝐸(𝐵𝐸𝑉)

𝐸(𝑝𝑒𝑟 𝐵𝐸𝑉) =  𝐸𝑡𝑜𝑡 (𝑎𝑣𝑜𝑖𝑑𝑒𝑑)  ÷  𝐵𝐸𝑉𝑡𝑜𝑡

- 𝐸(𝑝𝑒𝑟 𝐵𝐸𝑉)

- 𝐸𝑡𝑜𝑡 (𝑎𝑣𝑜𝑖𝑑𝑒𝑑)

- 𝐵𝐸𝑉𝑡𝑜𝑡

 



 

 

 

 

 

 

                                                           

 

 



 

 

                                                           

 



 

 



 

 

 



 

 

 



 

 

 

 

 

 



 

 

 

  

 

 
 

  

                                                           
 



 

 

 

 



 

 

 
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 

www.carbontrust.com 

+44 (0) 20 7170 7000 
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